
PMMBW-01525-A

Agitator Assembly 
     5/16” Flat Washer
     5/16-18 Nylon Lock Nut
     1” Hair Pin
Brush And Brush Cup
1/4-20 X 1/2” Stainless Steel Hex Head Cap Screw
1/4” Flat Washer
5/16-18 X 1/2” Stainless Steel Flathead Machine Screw
Towel Snap
Drain Plug Gasket
Drain Plug

Not Shown

5/16-18 X 1/2” Stainless Steel Post Set Screw
     Used To Mount Ball Washer To Post
Ball Washer Maintenance Tools 
     Drain Plug Wrench
     Allen Wrench

medalist ball washer
01525, 01550, 01560, 01570

6

7

8

2

3
4

5

1

Key #   

1
2
1
1
1
4
4
2
2
1
1

1

1

01401

01402
01406
01407
01408
01320
01411
01410

01317

01403

200-30

200-80

200-20
200-21

203-70
200-60
203-50

204-70

203-10
203-16

OEM #Part # Quantity

1

2
3
4
5
6
7
8

9

10

Item Description


